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Question Number : 1 Question Id : 5500532881 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A person suffering from lodine deficiency may be recommended to take extracts of
this plant preparation

w8 B3 BAIPdS §008 eredadd) @ & $0b ng) Ay g5 Jasred
SR8 RBEN.
Options:

Sargassum

OO0
5 '®)
1.



Porphyvra
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Chlorella
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Laminaria
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Question Number : 2 Question Id : 5500532882 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Fusion between two similar gametes, two dissimilar gametes, and non motile and
motile gametes occurs in these organisms respectively
20 DOGIEH Derw, ) WOGRH Derd) BAKN BNETS NB0% SV
D003 Do) Dodirto BHDS D B HERgo0.
Options:

Chlamyvdomonas, Volvox, Fuciis

SPDERrTD Teers Sy, QIYED

'I %

Volvox, Spirogyra, Fucus

) TSy, NEF0°, Q)ED
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Chlamydomonas, Spirygvra, Volvox

i SRVErTS , Py, ey

Spirogyra, Chlamydomonas, Volvox

Y6007, 52 DEQrTS, Trergs)
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Question Number : 3 Question Id : 5500532883 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

A specific organism [A] showing the lack of cell wall, survive without oxygen,
pleomorphic. The other organism [B] has cell wall embedded with silica and
indestructible. A and B respectively belong to

28 &3 [A] 0853670, £XFUErOSSS udiad Jhor Do VLV
dPspRd. 908’8 £ [B] sraginsod’ o0 SenS0d W Gylor &) 6.

20 A, B 5802m 9er gotran.

Options:

Actinomyces. Diatoms
eSS0V, Eairey
#® By ee=

Mycoplasma. Chrysophytes

EFY, S
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Cyanobacteria, Dinoflagellates
., PoSergdoir, ESF RS



Archaebacteria. Desmids

e e38) e 3B08T, S0

Question Number : 4 Question Id : 5500532884 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Match the following

List ListII List IIT

a) Witches Broom I) Trypanosome 1) Prokaryote
b) Sleeping Sickness IT) Sheep i1) Fungi
¢) Early blight II) Mycoplasma 111) Protozoa
d) Scrapie IV) 4/fei naria iv) Virus

LT VAV Y

List I ListII List III

2)300813 VDS ) §050% NENCER IR

b) 220f 2§ 3 1) K3 ii) 39o¢30

C) & B III) 8'5reF) iif) Se5° o

5., 5 r - &
d) Ay IV) @g@ datr V) D6
Options :

. AIli, Blii. CIViv. DIIu
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, » AIlL Bl CTiii

DIV iv

Question Number : 5 Question Id : 5500532885 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Match the following

List List1I
A) One seeded bits of fruts ~ I) Composite
B) Jack fruit IT) Mericarps
C) Fleshy thalamus III) Caryopsis
D) Fused pericap & seed coat  IV) Apple

138l S b Ie Y

Al | e 11
A) 23 o KL DEroTW I) Sdoodws
B) 8% II) E.bé?ébb
C) $oc %066 @ﬁ“bé)éo III) 8¢5 Dado

D) doatng Hogdtio ddokn A o IV) vd
Options:
| Aliv. BITiii. CIITiu, DIV 1

o Al iv, BIlli, CIViii, DIl
2.

3 v Alliv. BIui. CIVi, DIITu

. % ATliv, BITui. CIITi, DIVii

List IIT
i) Pome
i1) Rice
111) Entire inflorescence
iv) Schizocarpic
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Question Number : 6 Question Id : 5500532886 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Match the following

List A List B
A) Stigma I) Style
B) Seat of ovules IT) Tip of the style
C) Basal part of Gynocium  III) Placenta
D) Elongated tube IV) Ovary
2SDEOTI0D

T A 2T B
A) Serdo I) $eo
B) e0& e35°®0 II) Seo B0, effo
C) 90§ %0 28 23°¢50 III) e90cme§R goaoo
D) Jreadd oo IV) evsoz3050:0
Options:

. AIV, BIII, CIV, DII

, AV, BIL €ll. DI

| AN, BIV, €HI; DI

»AIL BIL CIV. DI
4.

Question Number : 7 Question Id : 5500532887 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0

Name the cells of mature pollen grain when you observe under microscope with the
following characters respectively.

A) Bigger cell with abundant food reserve and large irregular shaped nucleus.

B) Small, dense cytoplasm with nucleus.

R5) 69810 So68 0T Bewa) SEFR (0IPS & S08 vEmTeL Mo SR
TP QT
A) 0 dogods® et 30508 w8080 Sogs) $DAD ¢ Seao.
B) 098 Sragiofoss” Sogsasing Dby Seso.
Options :
Generative cell, Gametes

&o &S Smo D 8830

Vegetative cell, Gametes

TS0 €690, DT

Vegetative cell, Generative cell

T30 €50, SO N~ LT

Generative cell, Vegatative cell

& G88 Sevo, T30 g80

Question Number : 8 Question Id : 5500532888 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0

Assertion (A) : There 1s no variation in size of mature seeds in orchids.
Reason (R): Lodecia maldivica is the plant with largest seed.

D80 (A) : e58) &e&" B DB VBLArea0d” DL,

600 (R) : SLIaD 2rdds° 0d D¢ Do DA W)

;7'

Options:

‘A’ and ‘R’ are true and ‘R’ s the correct explanation to ‘A’.

‘A’ 08k R’ e HBHD. 208k ‘R’ 0008 ‘A’ & D8 D6,

‘A’ and ‘R’ are true but ‘R’ is not the correct explanation of ‘A’
AT H8ain R’ e 2B, 3°Q ‘R 980G ‘A’ £ D3 DHdes 5°¢ .

‘A’ 1s true but ‘R’ 1s false.
AT D8RS 52 ‘R’ é:q;b.

‘A’ 1s false but ‘R’ 1s true.
‘A’ é@D 520 ‘R’ 2808.

Question Number : 9 Question Id : 5500532889 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match the following

ListI List II
I) Makoi A) Dracaena aungustifolia
IT) Red dragon B) Smilax zeylanica
IT)Sarasaparilla C) Cestrum nocturnum
IV) Night queen D) Solanum nigrum
28 DWW

A 1 2o 11
I) 80w A) gD o ate
IT) 3& &6 B) gév’% Berdse
IIT) >8of C) DR TG

& &6

IV) o°@ o°ed D) Perda S
Options :

, IC.IIAIID.IVB
1.

S % IB.IID.IITA,IVC

IC,ID.IITA.IVB

3. %

ID.ITA.IIIB.IVC
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Question Number : 10 Question Id : 5500532890 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The reason for the genetic variation in the population of organisms

£pv 2T’ 0] PAG[0 L SEEHD
Options:
Meiosis

5030888 D2

Mitosis

ESPODPMOEAESES

Cytokinesis

S'eagb?g D320

Karyokinesis

SoBs DB

Question Number : 11 Question Id : 5500532891 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The smooth and rough endoplasmic reticulum are involved in the synthests of

0802 LBA L) W8S Sdfareo & Sob T D0ged” Y otod.

Options :

o
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Lipids and proteins and secretion

50 8050 FES e 8% FHSaD

Steroidal hormones and Lipids

PorowE :3666‘1_,}5 e S8a%L OHE e

Fats and steroidal hormones

§'H e ook Poroné 5560 e

Carbohydrates and proteins

D0& DTTPeN Bk B e

Question Number : 12 Question Id : 5500532892 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Name the cell organelle which are involved in the following processes
A. Conversion of stored lipids to carbohydrates
B. Catabolism of long chain fatty acids

& 308 HIHVDH eS"éofb}S SEPOTPR) DR BLVRYLW.
A. Jox &0y DDER B NIrEES e Sty
B. 86 $y0900 &8 wiro DD Sob
2 X
Options :
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Lysosome. Peroxysome

G, DTS

Dictyosome, Ribosome

A3 Do, GeS''

Peroxisome. Micro bodies

bwéb'ﬁf’éo. Arg) Bk

Glyoxysome. Peroxysome

033y, DS’

Question Number : 13 Question Id : 5500532893 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Assertion (A) : Eukaryotic cells have the ability to adopt a variety of shapes and carry
out directed movement.
Reason  (R): Micro filament, microtubules and intermediate filaments, constitute
the cytoskeleton.

Ado  (A) : Jwdogss Seren DG wgBovs wdvedociie &wgéi)l 98
&od X)géé AW 36533"0:560{)_).

d38e (R) 1 ) Sodosden, RAPE ) TP BN :Dd?g{g S0
SEP0aT) SardSFoN.

Options:



Both A and R are correct and R 1s the correct explanation of A.

A 208050 R 0 Botr 285 @805 R 9088 AL 238 ddde

Both A and R are correct but R is not the correct explanation of A.

A 06030 R en Gotlr 288 3°Q R 098008 AL D8R D588 5°Q

A 1s correct but R is incorrect

A 9358 529 R &2

A 1s incorrect but R 1s correct

A éTQ)D 5°Q R 28238
4.9

Question Number : 14 Question Id : 5500532894 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

This type of cells are not present in phloem of a monocot stem

& 308 TS’ SSYDB P00 VNS Serwoed SHE Seren
Options:
Phloem parenchyma.

. DS Seere Bduycosereo.
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Sieve tubes.

o0 Trwren.

Companion cells.
VPSR,

3. %
Phloem fibres.

g Severe) TeGew.
4. %

Question Number : 15 Question Id : 5500532895 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

In a dorsiventral leaf the position of xylem

DyeT 36 DY’ TR fgoao
Options:

Xylem surrounds phloem.

D6 g Srererd) o eotwod.

Xylem 1s towards adaxial epidermis.

(aloblu)) 993,555_. HO0 D) &oLOA.



Xylem is surrounded by phloem.

DA RS Se2r00 T Eotod.

Xylem is towards abaxial epidermis.

TPE0D) &7 S0 DR Eotod.
4. %

Question Number : 16 Question Id : 5500532896 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The physiological and morphological phenomena that happen, when bulliform cells
absorb water and undergo water stress respectively

aar ) Seren A TN SBakn A HBeerdS &Y SEIT
200 dficaoire
Options:

Flaccid: Leaf surface show no change.
Turgid: Leaf surface bend backward.

3o DY Swo éydoo) LAPDE.

. D\B0: DY S0 DIOEL Do,

Plasmolysed: Inward curling of leaf.
Turgid: No change.

Seagsdy 08 cs0: HDBo SDVPIDL B FOR.
. DyB0: BrEdy T,



Plasmolysed: Inward curling of leaf.
Flaccid: Leaf surface exposed.

Seagsdy o8 do: DPo S DVPIDL BB 0.
36501 DGBVO 2P EBD D

Turgid: Leaf surface exposed.
Flaccid: Inward curling of leaf.

2 &

&0: HShHOo ubgémmm.

$50: Do S HOPNLD AT Fdo.
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Question Number : 17 Question Id : 5500532897 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Primary CO; acceptor in Cy4 plants

Ca 21305‘6@66 FGg CO, %Ssg
Options:
Phospho enol pyruvic acid

T RS PADS €50
1.Y '

Ribulose 1.5 bis phosphate carboxylase
Gewes"H 1.5 DD é‘ﬁ)DeS SR NGT

2. %

3. %



Oxalo acetic acid

e55°65" DS es:BW

Phospho glyceric acid.

FJ BRBS espdw
4. % |

Question Number : 18 Question Id : 5500532898 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Yeast poison themselves to death. because

& SETPOD DARTCBD HBE3oLD S0

Options :

Above 13% of alcohol is hazardous.

13% S0& D505 eser) 7S PATSEEA.
1.¥Y

Above 13% of lactic acid is hazardous.

13% 08 5 S B DBTRSEAW.
2. %

Above 13% of pyruvic acid 1s hazardous.

13% 083 D=0 &5 DAAS e300 PATESEHW.

3. %



Low energy produced cannot support their growth.

SR SAD] D B D 33 T JHDSL BB’ .

Question Number : 19 Question Id : 5500532899 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Water potential is equal to solute potential in the following

308 T°OS” ABFS) B0, TASFL) B0 L DATDHHW
Options :
A cell soaked 1n 1sotonic solution

DT Trde085” &oDd S0

A cell soaked in hypertonic solution

0BS TPES (0 T°de0e3° &odd Seao

A cell soaked in hypotonic solution

WO TPESSR Trde0dS” €odd Sevo

A cell with incipient plamolysis

FGozSeaciad| o8 WP S



Question Number : 20 Question Id : 5500532900 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Pseudomonas and Thiobacillus carry out the following

KUPE QP 06050 GAUrerdpd W 308 TrAD BTt
Options:
Putrification

DY QO'&J:BOZiDeJ

Ammonification

e9 AT &.‘()23'55:15

Nitrification

ISTATSETIS)

a7 -

Denitrification

DdH LG

Question Number : 21 Question Id : 5500532901 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Haem group associated with the enzyme catalase 1s an example of

0FZD 30TE & SUd &) D PN AA BIS erTIr6e



Options:
Apoenzyme

093’ JoBe

Prosthetic group

@6‘:‘8&5 DBVT OB

Co-enzyme

DI DOTD

4

Co-factor

SGS00

2}
té(

Question Number : 22 Question Id : 5500532902 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The compounds produced when RuBP reacts with O, are
RuBP. O, & SERBDDDNED, G DOCITHS DT
Options:

3 - phosphoglyceric acid.



G-3-P and DHAP
G-3-P &odocdw» DHAP

Phosphoglycerate and Phosphoglycolate

FINHBE 080k FI\GESE

3.¥

Phosphoglycolate and Glyceraldehyde — 3.P

FI\GESES 080t ARod & - 3.P
4. % e

Question Number : 23 Question Id : 5500532903 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

With reference to stomatal movement, choose the correct statements
a. Proton efflux increases p™ of guard cells.
» + NE_ . A
b. Efflux of K™ and C1- decreases water potential of guard cells.
. + ¥ ™, y

¢. In the absence of light, K™ and CI~ efflux from guard cells.

~ . ~ +
d. Presence of ABA in guard cells causes efflux of K'.

-

006 BHODBHD Borothow), HBALD TPf[RM k) E M0,

2. JErde aoiyfagéae, 888 sErod’ P & DR,

b. K™ u80sw Cl: 3 &)iriogbee, 858 e’ 36 R0 Sochdv.

C. 5708 SRR\ 688 ety oo K b Ol o eo?m{ogées B0

d. 658 srross’ ABA 693, K ey )90 se6mdw.

Options:

., abced

1.



Question Number : 24 Question Id : 5500532904 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Identify the correct sequence of steps in the formation of root nodules i legumes
a. Formation of infection thread

b. Curling of root hair

¢. Stimulation of cell division in cortex and pericycle

d. Release of sugars and aminoacids by legume roots

e. Release of bacteria into cortical cells

OriogS o8 B e5'ED D6\ 20 (0 HBGI LAV (B0
2. Dogdoes b AN

b. wwd%0 Hods S8tit0

C. 50,0 20608 DB%A00S $ndzud BowsEi0

d. GEP{) G Aol 0N esiren 2805 386 D

. 900 §F0 58 wé&o&oe) A&
Options:

e.d.a.b.c

5 & c,d,a b, e



b.d.a.c.e

3. %

4ﬁ?d,b,a.e.c

Question Number : 25 Question Id : 5500532905 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Assertion (A): Vernalization is seen in Biennials

Reason (R): Cold treatment stimulate photo periodic flowering response in cabbage.
Q)80 (A) : BLBS 2) 0 D) TFAR ArR)Tw

Fond  (R):SEd 300 wDSGD 6'd0 53 359 5708 5erd) Tob

edododrr :@avbvm &0\ Snod.
Options:
Both A and R are correct. R 1s the correct explanation of A.

A 28050 R Bocr HBHD. 8050 R 9008 A & 28608 st
1.¥

Both A and R are correct, but R 1s not the correct explanation of A.

A 508050 R, Botkr 200D, 529 R 00k A £ 1803 D5 6.
2. %

A 1is correct but R i1s incorrect.

A DB 520 R Q‘.‘BEQ)D

3. %



A 1s incorrect but R is correct.

A 8y 5760 5°Q R 2508.
4. %

Question Number : 26 Question Id : 5500532906 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Match the following

ListI List II List I
I) Robert Constanza A) Mangroves 1) Other supporting service
1) Sundarbans B) Public transit ~ 11) Nature’s life support services
I1T) Lichenes C) Price tags i) Conserve natural services

IV) Ecological function D) Soil formation  1v) Flood protection

308 T 2h DAL
o | odee 11 wdee I
) oed 58 Poer A) S0l e ) @S0 Brrdd DI
II) 20c6 &y B) v (9% 11) TPEPSGE M006 2 Brdd NS
IIT) 53800 C) deod sty 111) TRV DoBEN

IV) 53568 R0e306 ciow0 D) S0,88 Aoyt V) H6cse) &d0c) 656

Options:

. I A iv II D 1u I C i IV B iii
. ID 1 I E il III A 1v IV B 11

2.

3 % I A II B 11 III D iv IVC 1

" I € II A 1v III D1 IV B iu



Question Number : 27 Question Id : 5500532907 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The number of absorbed CO; and water molecules to produce 180 g of glucose in

plants are

180 g a0 (P8 % 63y3 Sbrd3 Mg en feroch TS EuEE wbat

D 0 Q02

Options:

264 gand 108 g
264 e Hodasw 108 e

264 gand 193 g

264 ¢ S080%0 193 ¢

271 gand 108 g

271 e S08odw 108
3.%

193 gand 108 g
193 o° So8asw 108 e

Question Number : 28 Question Id : 5500532908 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Father of Bacteriology and link to infectious diseases

EPSB0ITRE DRV HBA oty THEVL Q6] 6) Voo
Options:
Ehrenberg and Bacteriology

DT BH36 B0Bosw wgawoa

1.%

Leeuwenhoek and virology

DATDD 5 L83 DTN
2. %

Louis Pasteur and germ theory of diseases

LTPO0D 3"%'36 S080kn Brg) BHRIS TR ?ocgoéo
3.9

Butler and germ theory of diseases

2286 HoOAtW ArE) BDHBIS T7(ROL dTFoSo
4. % |

Question Number : 29 Question Id : 5500532909 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Amphitrichous bacteria contains flagella like this

BUEPDS0SE (208D e380% STaren S06 o $DA Sotwod.
Options :

'I %



Two flagella at each end.

D3 §D HE Gochy STerwd SHH Gotod.

Many flagella at each end.

DB ED Sl o)s%b garerod) SO0 cotnod.

Single flagella at each end.

D3 8§D 5 w8 S0 g9A &otod.

Three flagella at three sides.

S0P DY HPED STrero SOHH Gotod.

Question Number : 30 Question Id : 5500532910 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Name the Mendel's factors and pair of contrasting traits

0E8 SPE5TeN 803N 2 Dd)cg VEITOL VoW0B0ND DOSTPVR Qe
DT
Options:

Alleles and Genes

cmarﬁ'éi)swbw Fobleloubb) 280{)e

'I %



Genes and Alleles

CASVIES) ISR Iclonty o.“mr‘%&éwbw
~,~_;.’-?

Genotype and Phenotype

2&0{drD0 083D ¢yBErdo

Genes and Genotype

a&g@w Poblolovth a@sdybo

Question Number : 31 Question Id : 5500532911 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Heterozygous tall plants were crossed with dwarf plants, then the percentage of dwarf
plants produced in the next progeny

Do Jeisd) 2803 T 3wg) v Bsf Vo860 2858 STS S0t
D6\E T 2080 To
&

Options:

N

2

r

1.%

~1
h

, »50



Question Number : 32 Question Id : 5500532912 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Lac Operon concept 1s mtroduced by these bio chemist and geneticist
&5 TR FODR 0S¥ DD & 2D GFADD DB wdd] TSI
Options:
Mendel & Butler
D00ES HoBodL ed

Monad & Jacob

DOTE VB0 8

Jacob & Monad

2258 B dVTE

Jacob & Sutton

2r8ed ok 2’0%35

Question Number : 33 Question Id : 5500532913 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The correct combinations among the following

Scientist Event
I  Miescher Named nuclein
IT  Fisher Isolated nucleic acids
III Altman -- Discovered purines
IV Franklin -- DNA X-ray diffraction

808 ToEeS" DBADD 23

TR 06 0y oo
e. -
I 30 - A5 D HEW.
I 0306 - Sodsarodd S8 DOe.

111 93%35 QD -- st&% R s&»ﬁ’aﬁci).
IV o8 -- DNA X 366 DOH8S.
Options :

I&II
®

, » &IV

e M&IV

o T&IV

Question Number : 34 Question Id : 5500532914 Display Question Number : Yes Is Question
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Time:0



It is not involved in recombinant DNA production.

D0 s DNA eotd) eébe}esﬁ A Do eod.
Options:

restriction endonuclease.
BRE.D JollRoggcdE.

1. %

DNA ligase.

DNA &6%.
2. %

DNA fragments.

DNA #8eren / msbw.

3. %

E. coli.
» S

Question Number : 35 Question Id : 5500532915 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Name and arrange the following in the order of technique and steps for separation
and 1solation of DNA fragments

[. DNA fragments moved towards anode under electric field.
II. Exposure to UV radiation.

IIT. DNA fragments stained with EBr.

IV. Gel electrophoresis.

V. Elution.

DNA 2048708 D6 60, DDES Sak F038¢8 70 B0k 30
42008 .

L DEoErerds (98 S0mipy DNA pormen edé 3 $68er da.

1. UV D86ee$ (90 Sokoe.

III. DNA socee)d EBr & e0f)donso Sokob.

IV. 85 Qo833

V. Qws:qé.-

Options :

s VIIIIIIIV
1.

o, IV VI I I
2.

S * I 1IIr1 v Iv

NI LI ¥V
4.¥

Question Number : 36 Question Id : 5500532916 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0

In EcoRI R and I denote

EcoRI ¢&5° R 20803 I 257005
Options:
Remove nucleotides and cut with in DNA.

DNA & 8860300 805 Arjdaarss e Sofocub.

1.%

Name of strain and order of enzyme isolated from the strain of bacteria.

855 0 2B ErSBALT BSo ¥00é DA BaPBAN oD © SR gvo.
2.V

Restriction endonuclease and number of strain.

BRE.D JoRogdada e Swdakn Bo Doax.

3. %

Name of the scientist and number of bacteria.

FROY DA BSB050 erFEAT Loy,
4.% 7

Question Number : 37 Question Id : 5500532917 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Choose the correct statements.

A. Asexual reproduction preserves genetic information.

B. Hybridization lead to multiply desirable genes.

C. Restriction enzyme adds methyl group to DNA.

D. Genetic engineering changes the phenotype of the organism.

RBADS Trjjok dood.
A. 0F00S DBEANG BRVRDATTT Q) BEODRE.
B. %0866 2GS D050 2R0§D0R0 DB B0,
C. 828D J0ZS DNA  FS HATFF) SDHR08.
D. az:éozg Q020806 £ &y316r00S" By B0s.
Options :

Aand D

A DH8asw D

B and C

B 08030 C

Cand D
C 06w D

A and C

A Hdasn C

Question Number : 38 Question Id : 5500532918 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Cryopreservation is done at a temperature of

SATRTD & Sod el S D¢ wDHAE

Options:
L x —140°C
. —120°C

2.

—196 °C
3.°%

—273 °C
4.%

Question Number : 39 Question Id : 5500532919 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Match the following

List-1 List -II
L. Aspergillus niger A. Detergent formulation
IL. Clostridium butylicum B. Ethonol
III. Lipase C. Butyric acid
IV. Saccharomyces D. Citric acid
258 DA
> -1 e -1
L 0800 a6 A. Denyo Soird Argo
1L g%éo:béo NIRERY B. @oee
III. & C. a5 00
IV. 78000 D. d&s"00
Options :

IB IID HIA IVC

1.%

2WID oIC IIIA IVB

s IA IIC IIIB IVD

N ID ITA IIIC IVB
4.

Question Number : 40 Question Id : 5500532920 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Assertion (A): Super weeds are fast growing than crops and resistant to weedicides.
Reason (R): There is transfer of new genes into related wild species through natural
out crossing.

Ao (A): Dot Qg §77) SOB0T HEHDAP Seo) FITOD MWL
Erod Ar6 D&y

60 (R): Rowodd S8 65708 Dpaid warostn (o 58 adofHe
269 6.

Options:

Both A and R are correct and R 1s the correct explanation of A.
A 8030 R &0 Gokor 28D, 080k R 9808 AL DGR Daddes.

1.%

Both A and R are correct but R 1s not the correct explanation of A.

., A D06050 R &0 Gotlr 238, 5°Q R 00dd AL 288 D56 6.

2.

A 1s correct but R is incorrect.

A 28358 50 R é@D'
3. % -

A 1s mcorrect but R 1s correct.
v A &2y 570 R 2828.

Zoology

Section Id : 55005362
Section Number: 2

Mandatory or Optional : Mandatory



Number of Questions : 40

Section Marks : 40
Enable Mark as Answered Mark for Review and

Yes
Clear Response :
Maximum Instruction Time: 0
Is Section Default? : null

Question Number : 41 Question Id : 5500532921 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Punishable offence under Wildlife Act of 1972 1s

208 TOS" HdFE3 50, 1972 Dexoswd B 3Eodehi S6o
Options :
Reduction in rate of loss of biodiversity

WOIPEHOVE £ St

Protection of wild life in natural habitats

SRR S ESER TR SRS U

Publishing Red Data Book
8& G RS0 DLVBE0

Trading wild life products

S e Bow Fo DFasren



Question Number : 42 Question Id : 5500532922 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Embryos of protostomes are called

JeS’T D © Dorrew
Options:
Regulative embryos

6(‘6356&5 DO

1.%

Positive embryos

DD Dorren
2. %

Mosaic embryos

2OV2PONS Dozeen
3.9

Radial embryos

mg&d 2ore
S & @
4,

Question Number : 43 Question Id : 5500532923 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Assertion (A): Adult gastropods are asymmetrical though there are included in
phylum Mollusca.
Reason (R): Symmetry of organism is determined in early developmental stages
but not in aduls.

3o (A): e rvg‘sﬁﬁw 2R LT, HTS BoBRD\ES erorr
%oeml-J
w6600 (R): 2080) 3“;01350 D) (¥0 wrdor 093&»@% =R FEED
) S,
Options :
Both A and R are correct and R is the correct explanation of A.

A £58050 R a0 Boti» B9, 8050 R 092088 A 28D D6,

Both A and R are correct but R is not the correct explanation of A.

A 58050 R 20 G0k 28, 3°Q R 09808 AL 28 588 5°6.

A 1s correct but R is incorrect.

A 23S "A R 63’5.2)3

A 1s incorrect but R is correct.

A &2y 529 R 0538

Question Number : 44 Question Id : 5500532924 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Dense irregular connective tissue occurs in

o0 FH0EPS DoIrRS SEP0 G0 LA
Options:
Umbilical cord

508 dg,;))

1. %

Deeper region of dermis of skin

56),085° 9086}, 085° S'BD Frohdo
2.

Vocal cords

. R(GSoBoen
3.

Epiglottis

ebabss
4. %

Question Number : 45 Question Id : 5500532925 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Assertion (A) : Cardiac muscle is highly resistant to fatigue.

Reason (R) : Cardiac muscles are innervated by the somatic nervous system
D3y (A) : 0D Sokdo R3S &4 .

52600 (R) @ S0y80% Sotoodd Bars wré S5 S20mBE03000.
Options:

1.



Both A and R are correct and R is the correct explanation of A.

A 208050 R e Bodr 9859, 8050 R 092056 AL 283 Dd6e.

#®

Both A and R are correct but R is not the correct explanation of A.

A 008050 R e Sodior {ogéi), 50 R 9008 AL STelN) MPelelrBoilnb)
2. %

A 1s correct but R is incorrect.

A 2356 5D R 82y,

A 1s incorrect but R 1s correct.

A 839y 5°D R 2588
4. %

Question Number : 46 Question Id : 5500532926 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Choose among the following the characters of ophiuroidea of phylum Echinodermata

306 8BS’ ABSEG, R 37708 BoBD wEWT OGP £ VI

(180t

Options:
Madriporite 1s aboral, tube feet with suckers, Open Ambulacral grooves
DOWDBVOS’ GOV, EFATN) TITITLD, BELHY) WIS

]wwciow



Closed Ambulacral grooves, tube feet without suckers. Absence of anus

QarR0d) Woandgs T, drasey 8 TSIrTe, o) 8 J'ao
2.

Arms absent, Anus 1s aboral, Closed Ambulacral grooves

FETR0 G0k, VARV Sw0S” PN AAPWLD) WoeTES MW
3. %

Open Ambulacral grooves, tube feet with suckers

BELLDD) WoeT IS D, BFATRVD) T IS I T
4. % .

Question Number : 47 Question Id : 5500532927 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Choose the incorrect combination among the following.

Class Character Example
1) Xiphosura Poisonous Claws Limulus
2) Arachnida Coxal Glands Scutigera
3) Crustacea Biramous appendage Sarcoptes
4) Diplopoda Gnathochilarium Spirostreptus

308 TS DTG D D) FRAD Dok,

8618 DEL NI HaRelx PV
1) azf)“(oolgc*’ DY) daren ORWOH
2) Qw%lm g Sbé tJocoen {oyzje?.)ezw

) S8 &5?"&503.) &arotio 38 LR

«©

3
4) YT 38386010 D820



Options:

; %2, 3.4
> %1, 3. 4
3_w1.2.4
4.\;,;1 2 3

Question Number : 48 Question Id : 5500532928 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Identify the larval stages in the development of liver fluke

D56 QS DorrDBBS” $Jy0d CoBSSIVRL Bocsod.
Options:
Veliger, Trochophore. Sporocyst, Planula

. 208, SED6, F\E2R, Fraver

Sporocyst, Planula. Trochophore, Redia

B2, aver, EIE, bdosr

2. %
Miracidium. Sporocyst. Redia. Cercaria
DoedER0, FNBRY, B&osr. 28 Bosr
3.¥ =



Planula, Sporocyst, Muller, Trochophore

Foer, P B, H0pé, YEI6

Question Number : 49 Question Id : 5500532929 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The closest invertebrate relatives of chordates belong to the phylum
& STAS BBY S0S EPVA STPL D) aPS WOWHRVT DB) oy

Options :
Mollusca

aﬁoo%*"gj

Echinodermata

ABI&B) e

Coelenterata

208387

Arthropoda
38
@

Question Number : 50 Question Id : 5500532930 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Assertion (A): It is necessary to know the life history of an ascidian to consider it a
chordate.

Reason (R): Ascidians exhibit retrogressive metamorphosis in which larval stages
are in a degenerated condition.

)80 (4) : éatr &I B & DB T £IS SO
Lol waird.
5680 (R) : JREOEP e £6300 Cowd ¥k $962 B drd
DAL HEB Faw.
Options :

Both A and R are true and R is the correct explanation of A.

. A 08030 R Bokor 28D, 08030 R 98008 A £ 28D Dddes.

Both A and R are true but R is not the correct explanation of A.

. A 28050 R Bockr 280D, 50 R 008 A £ 233 Diddes s,
2.

A is true but R is false.

, A 23338 520 R 2358 sec.
3.

A 1s false but R is true.

, o« ARDIG 5w 500 R 2838.



Question Number : 51 Question Id : 5500532931 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Identify the incorrect pair regarding Vertebrae

A. Birds — Amphicoelus

B. Fishes — Procoelus

C. Urodela — Procoelus

D. Caecillians — Amphicoelus

& 308 o7 SFWSTOLH 100H0D) DTIA 5D 2
A. D8O — &AM

B. $0en — 868

C. cr8der — BHS

D. dodoHdd — ez

Options :

v AC

Question Number : 52 Question Id : 5500532932 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Identify the Protozoan with anematic flagellum

ADATRS ST $OAD J'eS'erar BdHodd H8osod.
Options:

Chilomonas & Cryptomonas

S ArTd & AR
1.¥Y

Euglena & Astasia

i & esd08e

Peranema & Monas

HOEDAT & DrETD

Chlamidononas & Politoma

SREIFTD & IO B

Question Number : 53 Question Id : 5500532933 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Protozoan in which cilia are confined only to juvenile stages are

3350598 Argdd 3Dso A ed) JWa &
Options:

'I %



Paramecium

DT A3

Vorticella

Peloreou
2% ©

Acineta

DDDET
3.¥

Euglena

oarHe

Question Number : 54 Question Id : 5500532934 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Wriggling movements of sporozoites are caused by

J\Faront & 0TS SErRD JT°LETe
Options:
Microtubules

wgév@Sw
1.¥



Convoluted tubules

DODLH TS

Pseudopodia

Do TR0
3.%

Flagella

N ST
4.

Question Number : 55 Question Id : 5500532935 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Match the following :

Column II
M. Opium poppy

Column I
A. Opioids

N. Cannabis sativa
0. South American Plant

B. Cannabinoids
C. Cocaine

D. Heroin P. Diacetyl morphine
& 08 T8 BBOGS0E.
Column I Column II
A GDaIrEy M &dako 3
B.sTdrowty  N. S0 28
C. §39 0. dge s 2ws)
D. rTrons P. GRE® 47819
Options:
A-M-I B-N-1II
1.¥Y
« A-P-1V B-0-1III
2.
A-N-1II B-0-1I
3. %
., A-O0-II B-P-1IV
4.

Question Number : 56 Question Id : 5500532936 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Column III
I. Receptors are present in
CNS and GI tract.
II. Abused by sports persons
III. Crack
IV. Smack

Column III
L pirse Sogd dj0d
AT & Hyobraw.

IL. Sersedoen B8 dtfo
ST

III. 5°S.

IV. ;8.
C-0-1II D-P-IV
C-N-1II D-M-1I
C-P-1IV D-M-I
C-M-I D-N-II



Time: 0

The drugs that cause sleeplessness
& 308 TS ATTEe3 dorgsen
Options:

| LSD

Barbiturates

83”88)&138@3

Amphetamines

@Ogbé.)é)f)b

Benzodiazepines

B0’ Easrapdy

Question Number : 57 Question Id : 5500532937 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Identify the correct statements in relation to Wucheraria

€:588050° £ 20800800 & $08 TS” DJD Tefay
Options:
Pineal spicules are unequal and chitinous.

BOD & BoDLUAED, VDATIDD RODY); SIS HOoLTow.
1.¥



Pineal spicules are equal in size and chitinous.

FOS & BoDAD, VATHRD VODY), LT PHoLTOD.
2.%

Sausage shaped larva is formed in labrum of mosquito

FH 56 GoBSo B eacdSoes” Ddbciam.
3. %

Mamillated eggs are found in the life cycle.

SrDTOE HE BDS 58" SIDIrow.
4. %

Question Number : 58 Question Id : 5500532938 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Choose the correct statements
I.  Population is a group of organisms belonging to a species living in a particular

area.
II. Populations of different species in a given habitat, interacting with one another

constitute a community.

II. Population 1s a group of organisms belonging to different species

RBALD TR Jows Safwd

L 2883 003085 ABV0D w8 A3 FoBD BV DAVPR BT,

L 28 DB 8208’ Adod HEE SRR D v B0dd S
QPR ez,

I 27 98T DG AL B0 ) DT,



Options:

I & IIT only

[ & IIT Soeghado
1. %

[ & II only

2.9

IT & IIT only
T & IIT Soreghadd

3. %

, » LIT&III

Question Number : 59 Question Id : 5500532939 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

-1

ey . dN ,
In logistic growth equation d_ =N where ‘r” represents
i)

a8 H)0 DLE0 i—l; s m[%}sﬁ T 3 2rdotiv.

Options:

Population density

2T oS

'| 23



Intrinsic rate of natural increase

'é)‘a’)"&ﬁab&% ‘QO@«Sbg 3ew

Carrying capacity

2PEHTD 33
3. %

Age distribution

SO T
4. %

Question Number : 60 Question Id : 5500532940 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Find out the correct match

Set —1I Set —II
A. Tidal volume 1. 3000 — 3500 ml
B. Inspiratory Reserve Volume it. 1000 — 1100 ml
C. Expiratory Reserve Volume iil. 500 ml
D. Inspiratory Capacity iv. 2500 - 3500 ml

2BGED 2SR B0

Set—1 Set — 11
A 865 orurio 1. 3000 —3500 ml
B. ew%fo Qe DDHBATEI0 1. 1000 —-1100 ml
C. 2)5*’5{0 Qe DDDBAIE0 1. 500 ml
D. 6270 5*’:0%30 iv. 2500 — 3500 ml

Options:



. A—iii,B—i,C—iv,D-i
1.

o Al B-iil. C-i.D-iv

. A-iit, B—-1wv.C-1.D-11
3.

> A-1i,.B-iv.C—-11. D -1
4.

Question Number : 61 Question Id : 5500532941 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Identify the correct sequence of the air passage in man.

SrHHVS” FLRTOIDV DG 0BV B0,

Options:

External Nares —Nasal chamber — Trachea — pharynx —bronchi — bronchioles
— Alveoli

EPEP(TE GoErd - ST 88— O T¥0 R TR T -

TR TOS0 0508 % Heaen

External Nares — Nasal chamber — pharynx — larynx — bronchi — Trachea —
bronchioles — Alveoli

EPR(RS ogren - TS 85 - (R0 - 3D - TR TYW -

T TP > TR TS 0505 % Koo



External Nares —Nasal chamber — pharynx — larynx — Trachea — bronchi —
bronchioles — Alveoli

WP Gorey — TS 88 - (AR - 3D - Taky TWo - TR

TEW - PR T 0508 % Aeven

v
External Nares — Nasal chamber — pharynx — larynx — Trachea — bronchioles
—bronchi — Alveoli
EPIRTS o - TPRE €5 - (A0 - 3D - oy T¥o - TR

. TOS0 - T ey > Tokws? Ao

4.

Question Number : 62 Question Id : 5500532942 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Identify the correct statement
S08 TOS” DBADD Te(Ad Dot

Options:

The ascending limb of Henle’s loop 1s impermeable to water.

y Q) 3E(0 Ghg), esBire TYE A3 et $9A Hotwod.
1.

The ascending limb of Henle’s loop is permeable to water.
. TR 380 GIg), eBire IO ABS FErLI $H PHotwod.

The descending [imb of Henle’s loop is permeable to electrolytes.
L% 7 35[0 g wIBirn O DS eI L 6 fk $9A Hotwod.



The descending limb of Henle’s loop is impermeable to water.
2P [0 ), wIBrn TP VDS T 6ridSR DA Hoenod.

Question Number : 63 Question Id : 5500532943 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
The substances eliminated through sweat
5 - -
SNaEEaENey Dadébodfovg DT
e @

Options :

Sterols. Waxes

:fgc"eSD, a°§g e

Cholesterol. Steroid hormones

E£GQT°S, JTowé U"Ef’éé 3%

Hydrocarbons. drugs

3TE 6N R0, oot

a— SN/

Small amount Urea. lactic acid

%"cgé%i’) afor80sr, eSS essvo

Question Number : 64 Question Id : 5500532944 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If a person gets ataxia with an accident, the damaged part of the brain is

28 518 DTG0 Sp WErS\aIr DO HPB, WEHS'D BendS et
Options:

Pons Varolii

. 3*3.53 589

1.

Cerebellum

L v RORVIY, S0

Cerebrum
S V-
" S0 0

Medulla oblongata

. cbag DO
4.

Question Number : 65 Question Id : 5500532945 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Identify the correct matches

Column - I Column - 1I
A. Vagus nerve 1. Palate, salivary glands
B. Optic nerve i1. Muscle of the tongue
C. Hypoglossal 1i1. Lungs, heart, oesophagus
D. Facial nerve 1v. Retina of the eye

2BADD wdo MBodod

D838 -1 He3g — 11
(A} (A}
A 6 ¢ 1. @009, ereraododioen
B. Sya e ii. TP SoLToeN
ol 22,305938 & iil. eSS, (0&, e5FE TPers
D. e iv. So83e5°D) B
Options :

. A-iv,B-ii,C—1i,D—1iii
1.

A-ii,B-11,C—-iv.D -1

2%
A—i1 B €—1V.D =i
3. %
v A—iii.B-iv,C—ii,D—i
4,

Question Number : 66 Question Id : 5500532946 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The enzyme present in sweat, saliva and tears is

D0, e 80K S ¥ & &0l JoF
Options:

Lysozyme
FI'B

Granzyme
TP
&

Trypsin
@3335

Integrase
Q083E

Question Number : 67 Question Id : 5500532947 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Identify the correct statement

S0t QDD T DD oD dfocsodd.
Options:

Cortisol 1s a mineralo-corticoid

:—?QS%S eORDPNA 20 AdHGS’ S0P ané

1. %



Adrenaline and nor- adrenaline are commonly called catecholamines

G0 208akn 76 A v Voahugorr FHESVRN e Wotrd
2.

Zona reticularis of adrenal gland produces epinephrine

. G35 o &°D 6&3?5236 D> 0G0 JDIPRR A DAL
3.

Insulin 1s an enzyme that regulates mineral metabolism

. QAN LHEr BHSALO DADOGoB S JoF

Question Number : 68 Question Id : 5500532948 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Hormone that is not involved in sugar metabolism is

38,6 2dH3oD0S” FE°D LD
Options:

Glucagon
BrSTe

1. %

Cortisol
. 92&6

Insulin

3 ® 'Qtﬁ.)s@:%



Aldosterone

e3¢5°Do° D
4. & ®

Question Number : 69 Question Id : 5500532949 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Deficiency of ADH (Anti diuretic hormone) or Vasopressin results in

afroh GoardBs 56 S (ADH) Sor '0S woyTdo o SO wbRd
Options :
Diuresis

QS S0P DB,
1.¥ ) e

Decreased volume of urine.

VN TG DY,
2. % -

Reabsorption of excess electrolytes

- S Qog’gé (3] ‘&Dd)s%e'éqea

Decreased blood calcium

 B8g500685° s2®ao SSe
4. W -0 ol )

Question Number : 70 Question Id : 5500532950 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Identify the correct statement

808 TOS° DT Tegady
Options:

IUDs are generally inserted by the user herself.

., TUDs 03D FEER0TT EDBETADED T T Gohey T3 9060\ & DN,
1.
IUDs promotes phagocytosis of sperms by WBC.

_, TUDs 3D 8063 serod 308 Stros 28.0DBJ 0.

Gametogenesis is suppressed by IUDs.

. D286 20530 o8 IUDs ANk 9L OSLICIER08.
3. .

IUDs are not suitable contraceptives for females

. TUDs 00200 o 0020 668 ¢seen 5°:.
4. = -
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Arrange in sequence the following in mammary gland
a. Mammary tubule

b. Mammary Ampulla

c. Alveoli

d. Mammary duct

e. Lactiferous duct

£8506S" L6 SB0B00R 9BOBNHW.
a. 8.8 TPVEeD

b. £8 $03¢

c. £8 Szren

d. £8 TFH0

e. 8.8 oo

Options :

L c.b.a.e. d

, v cadb.e

« C85€, d.b
3.

4 c.b.d.a.e
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Artificial insemination means

B BOG ADNE0 DT
Options:
Introduction of sperms of healthy donor directly into ovary.
esrig Dod00% T B0t BV 28800 Serr Kadto &3

FOTAIALY
e

Artificial introduction of sperms of a healthy donor into uterus

ENEhY og@éf 666656069&530»:6 @ 00, SBoES WYV tfomyBoko &

D% D,
LA

Transter of sperms to a test tube containing ova

@ociod D) 0OL TVE &' I3 BogSrTOL VDF DLW

3. %

Healthy donor sperms are directly injected into ovum.
B Ao ) T do0c BN TR TP wockst Bdjo'S @oB§

D008,
4, %
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Cooley’s Anaemia is controlled by single gene present on

€90 AADOITRO DosroGoesy 1R &0t §arE .



Options:
Chromosome — 1

Sarson — 1

Chromosome — 16

Sarson — 16

Chromosome — 9

Cars o -9

Chromosome — 11

Sars o — 11
4.v

Question Number : 74 Question Id : 5500532954 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Choose the incorrect statements regarding Haemophilia

A. Haemophilia B is X — linked recessive disorder

B. Haemophilia C 1s autosomal dominant disorder

C. Haemophilia B 1s caused by deficiency of clotting factor IX
D. Haemophilia A is caused by deficiency of clotting factor XII

TPRTODOITLD 020808 DBIG 5o VAFGSHA Jods BokwSw
A raradoir B a8 X - direr) woddd adoge’oo

B. craradair C a8 3irs §ard'S wirds aduge’vo

C. Paradosr B %063 2650 IX &0 do genrbao

D. raradair A 1,068 57650 XII &0 He enrbiy

Options :

x AC

,» B.D

;% B.C

4 % C.D
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: th
Trisomy of 18" chromosome causes

18 & a0 SIW H0d Saud RS



Options:

Turner’s syndrome

8,6 DoE

Down syndrome

D MHoE S

Klinefelter’'s syndrome

ey

SV Do

Edwards syndrome

DS 208D
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The genotype that causes fair skin complexion in human is

SRS’ 563 Sortd SLRI ¢5° gocterds S 0RO 2[R0
Options:

- AABBCC

) & AaBbCc



v aabbcc

. aaBBcc
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The evolutionary force that reduces the genetic variation by removing low frequency
allels

SEURY S‘Q@Q)élgo $B% atwrl) Dgeryd Gofiod) 2o DALY Sflosd £
DTV
Options :

Adaptive radiation

en0s0g Ddde0

Gene flow

2] DIT°T°0

Genetic Drift

280 3%”‘&3«'6

Reproductive isolation

DSBS DDYS
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The human fossils discovered in java in 1891 with cranial capacity 900 cc i

20878 900 ¢¢ © gare) 3”83)%0 $9%, 1891 & war & S8 drdd Iereren

Options:
Homo habilis

FAT 55D

Homo erectus

A ALER

Homo neanderthalensis

Far Josrord O

Ramapithecus

TPATRS D
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Cells derived from any of the three germ layers are

B0y D2 YO0 Mo DGYE S0k SEFeD & §5°AS BoBID
Options:
Totipotent stem cells

i ;’oqs&sbogé Pl Seen

Pluripotent stem cells

"3"3’5"@9}5 Seod SETe

Multipotent stem cells

LOTTPOY S, STol e
3. % )

Unipotent stem cells

QY- &mgé SP0¢ SETEe
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When a male donkey is crossed with a female horse, the resultant animal is

28 2008 TPASR 28 3¢ oS 20060 2EDM 205 £
Options:

'I %
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Time: 0
If a physical quantity ‘Q’ is defined in terms of moment of inertia ‘", force ‘F’.

velocity V', work “W” and length ‘L as

)

[FV* |
=—  then‘Q" 18
Q WL 2

w8 S T Q" D add grdvso T, wwo F, Stfo V7, 03 W’ SoBako oty
V?
T o Q AV ABER, ‘Q 93
we o
Options:
stress

FOTETATSTe)

modulus of elasticity

23 FHE Hoego
@ @

specific heat capacity

:)%:geg aomgéo

surface tension

éoéé?ge:‘a
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A particle starts moving from rest under a constant acceleration, and covers a
distance ‘X 1n ‘t” seconds. The distance covered i next ‘t’ seconds 1s

Jb0 D8 d00c B S(Be0d” SV ws Seo ‘T %Y X hrdo
DOIrE0R08. SHOTE T NE0S” W HokrEon drdo.
Options:

X

rJ
N

8

:J)
P
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A juggler throws balls vertically into air such that, he throws the next ball when the
previous one 1§ at its highest pomt. If he throws 3 balls each second then the
maximum height reached by each ball is

(Acceleration due to gravity = 10 ms™)

28 TPOCTE) AUV 0BV DRESIT) 9. 0K 8108 18 Io&
D) I ST 208 DWHET B HS DS 3 Wodoww VBB, BB 80d
50 163 g0

(thdoeq a0 =10 ms?)

Options:
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If a stone is projected at certain angle ‘6" with the horizontal such that its horizontal

range 1S equal to 1ts maximum height, then angle of projection ‘9" is

28 T £ V8rodded ‘0’ Erod HE00 BVNYD T §S8 VAF0SH
T, 162 0D DEFIWS, &2 S0 6 Jewd

Options:

tan”~ (2)

tan~'(3)



tan”" (4)

tan~" (1)
4. %
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When a spring of force constant 200 Nm™ 1 compressed by a force of 10 N then the
compression in the spring is

208 2030 10N 8¢ 200 Nm™ e %voéo o 0h & 200R 0D, & o 5
20253
Options :

- 5m

5 ¢cm
0.5m
e

0.5 cm
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An object of mass 50 kg 1s in a lift moving up with an acceleration of 5 ms™. Then
the apparent weight of the object and its direction is

. . %,
(Acceleration due to gravity = 10 ms™)

S deao 5 ms” & Devdym s JB0) 2,8 89 & 50 kg gO(or3 o S0 o,
T 03135'6 cﬁqﬁs e bodw o &%
(iotioes S(dto = 10 ms™)
Options :
750 N upwards

750 N p3

250 N downwards

250 N 084

250 N upwards

250 N 4

750 N downwards

750 N $0838
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. ~ RS Q= ya—— :
The speed of a body of mass 10 kg changes from 20 ms™ to 30 ms™. The increase in
the kinetic energy of the body is

55073 10 kg ffo 8 S0 ¢ 20 ms” &l 30 ms” & Ar6D8. 30

2388 DAY
Options:

12

N

017

1.%

L« 45007

L » 25007

3000 J
®
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The energy consumed by a 1000 W electric bulb when it 1s used for 1 hour is
28 1000 W Desogd 2oy & 1 ot &darAod, DACIrAosed.d 33

Options:

3.6x10°W
1.%

6
- 3.6x10°J



3.6x10°W
3. %

3.6x10°7
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A solid sphere of mass M and radius R i free to rotate about an axis passing through

; o o M ; - :

its centre. A solid cylinder of mass - and radius R 1s free to rotate about its

b

standard axis of symmetry. Initially both the sphere and the cylinder are at rest. If
torques of equal magnitude are applied to the sphere and the cylinder, the ratio of the
angular speeds acquired by the sphere and the cylinder after a given time is

M 5503 0B R ae(Redo o) 2,8 widfivo o Soggo orioe el wgo Dborm

M
AT Bidorao Sodrienrddrod. — $[o°3 dodoty R TR0 o w8 209

AP0 T 3”%3"5,0 BT BT Foeso wolbrieorbdoed. FGoziods” Befo

080 AP0 Do DSG’ Goa. Ddrd HoJrH0 6) €6 L (ivo Bk
20 D P, 2dyd s S3BE" Ao Bk Brdo Tod Se3ad Hce

3%@

Options:

2.

‘N

1.%
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A wire of length 0.17 m having linear density — ke m™ is bent in the form of a ring.

I

The moment of mertia of the ring about an axis passing through its centre and
perpendicular to its plane 1s

1 :
= kgm” 8o o do 0.1n m &) o 2 S Sodto ws6osS’ Soaedh.
T

405630 Solo ot Jdr o Berdd LoworT God S0 DB S05E0 BES

GaS0

Options :

=D 2
. 0.50 m x 107 kgm"
1.

. 2 2
0.25 n x 10" kgm

3 % 0.50x 107 kg m’

3 b
Y 0.25x 107 kgm™
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The acceleration of a particle executing simple harmonic motion at a distance of
2 e ; ) : X 4 .

10 cm from the mean position s 0.4 ms™, If the amplitude of the particle is 30 cm,

the maximum acceleration of the particle is

ROY 00§ tSudo So0dd) w8 Smo aRg) resfEdS o Avodt 10 em
&rdo bg) &(deo 0.4ms”. $mo axs); 00 8208 30 cm o eo 66201
égéeso

Options :

=
. 0.6 ms™
1.

S % 0.9 ms’2

=2
1.2ms™

2
1.5ms™
4. %
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A Dbody thrown vertically upwards with a velocity of 20 ms™ from the surface of a
planet reaches back the surface of the planet in a time of 2 s. The time period of a

; . 20 . .
simple pendulum of length — m on this planet is
3
28 0 300 2 20 ms” Sriod £ vororr pd DA ws B G6H (i

20
3oy 25 0 ol $0R), & (o p — m T o a8 v S'ogo vBgd
2

S°00



Options:
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A 200 kg steel bar sits horizontally on two supports as shown in the figure. The force
on each support is

(g=9.8ms)

200 kg G[d 0 2.8 680, $4) k08 SPdD DKM Bocd rrdwp S8
RroBBorT €:0u)0. ©AR VB VLG D D (HAS Lo
(g=9.8ms7)

200 kg

= Stee) bar (QQGSQ)

A

Options:

|« 960N

_« 1960N



L« 490N

, v 980N
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The part of the stress-strain curve where the Hook’s Law 1s valid s

7085 AoDVEANRY VRGO DBWLO-ISBRO 9F &0

> 3ae ™

B oD
E // ~.

B ,,if

Stress (A

(Hdwwo) | |

|

0

v

Stram (DG‘,GJ
Options:

. AC

CD

> OA

OB
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Two soap bubbles of radii 1; and 1, in vacuum coalesce 1sothermally to form a new
bubble. The radius of the new soap bubble is

[ =

mﬁgaﬁn Iy, Ty o0 (50 B0 w0y ancirien wéssﬁnéf’ NArYs DS00E" S0 w8
¢ w0y L0c TP SrBRD. 5 dey ande aog) mgﬁﬁdo
Q@ =2 1 Q

Options:

1.¥
211,
2. %
LL
)
3.% 7
5 1
L+1
4. %

Question Number : 96 Question Id : 5500532976 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The temperature of the surface of sun is 6000 K. The wavelength corresponding to
the maximum energy 1s nearly

(Wien's constant, b = 2.89x 10° mK)

AP 680 e 6000 K @0, (162 3§ errtiw oy dbor A6

BT
(D9 derogiw, b=289x10"mK)

Options:

1.82 X107 m

1.%

6.82%x10"m
w

. 5.32x10"m
3.

/ -7
” 4 82X10 ' m
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During an adiabatic process of a 111011mt0nnc gas. the relation between absolute
temperature (T) and pressure (P) isPoc T, The value of °x” s

$ D3OS’ 208 D8 DTS TN TS, DB &S (T) 2960k o

N/

)
§
(P)

Options:

e 83,8}

tfo) 208080 P o T‘ oA, ‘X’ cﬁwsb DD

%
1.
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A drilling machine of power 1 kW is used for 5 minutes to drill a hole in a 10 kg
metal block. If 40% of the work done by the machine 1s wasted as heat, the rise in
temperature of the metal block s nearly

(specific heat capacity of the material of the metal block = 4207 kg’l K?)

10 kg 5103 88 a8 &' wcioyd” dogio SokbeeS 1 kW &mglso o w8 &
o) 5 AN e EDAHors SR S0, Ao B HAS'0% &3
Erdnd’ o 08, 8" vty a8, egﬁgao‘* A6

(a2 By, g, e DTG Fedo =420Tke K)
Options:

|, 286°C
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A gasis COIllpl‘eSSg?d from a volume of 23 o’ to a volume of 17 m’ at a constant
pressure of 50 Nm™. If 50 T of heat is added to the gas. then the change in its internal
energy is
w8 T00HR 23 M’ 20068760 K006 17 m’ 3008780 . 50 Nm'™> 00
26380 36 P00 2608, BTAANYLD 50T 658D WOBY. & TANY TS,
wodBs $38° I3y Sroy
Options:

decreases by 2507

25017 é%be:’a)o&

mcreases by 3507

350 J D80 &008

decreases by 3507

350 J &to00b



increases by 250 7J

250 J 250008
4. %
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If the percentage increase in the pressure of a given mass of gas in a container at
constant temperature s 100%, then its volume

26 658 96 2,8 SIS’ Godd Tan g 260 100% 268, o
000

Options :
decreases by 100%
100% &Sthdood

decreases by 50%

50% SHOS006

does not change

Pobrleln®)

increases by 100%

100% 08t0&B008
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If the speed of a wave doubles as it passes from shallow water mnto deeper water, its
wavelength will be

8 6260900 0 &3 "o 30BN w8 Bdorf Srio Tox 0 T

&dod @_9)50

Options :
unchanged

bf’dob S

halved

rSTele M Pl bleln)

doubled

380D sHS0H

quadrupled
TP G 9aHBV0S
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A tank is filled with benzene to a height of 120 mm. The apparent depth of a needle

Iying at a bottom of the tank measured by a microscope is found to be 80 mm. The
refractive index of benzene is

28 €P05 % 120 mim 6% Boed & oiPed. w arg) 68\ er(oS
e ed) e H63VDYE T Ey3es" S 80 mm e Sodecod.
0008 BHoed GE) 532 Aoraso

Options :

l.

N

1.¢¥

)
h

)
”h

Question Number : 103 Question Id : 5500532983 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In Young's double slit experiment, if the distance between the two slits is decreased
by 20% and the distance between the slits and the screen is increased by 20%, then
the percentage increase in the fringe width is

ool 200 DOS PAIriod, Gocdy DS cs] b0 20% Sod, e

080k BE gk ¢4rGoi0 20% 0, DY dekenyd” doriace o

Options:

50
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. .
Three charges +Q. q, +Q are placed respectively, at distances 0, - and ‘d” from the

origin, on the x-axis. If the net force experienced by +Q, placed at x = 0, 1s zero.
then value of °q’ 1s

d
B0re T Q. €. TQ HAIT dure Dotk Aod S 0, S 208050
4’ droed’ X050 08 Goseddd. X =0 &6 &odd +Q WA 1A 3 KO
800 ) WA ‘(" DI

Options:



Q
>
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A conducting sphere of radius R carrying a charge Q lies concentrically mside an
uncharged conducting shell of radius 2R. If they are jomed by a metal wire, then the
charge flowing to the shell and the amount of heat produced are respectively.

T{Fdo R, deoymreto Q o wg irg Aed) a‘@go 2R to JTDIS T3S
$6\608" D8 Sogorr &) 8. I ws T SIS DRV, SB\TIS

R

DeT0td) Z)cbswééo A08050 200t egc"% DRVDLY HEAT

Options :
Q ¢
3 4ne.R
1.%
20 o
3 8me.R
2.
Q2
16me.R
3.
Q3
"127e.R
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An uncharged parallel plate capacitor with dielectric constant K 1s connected to
similar air cored capacitor which 1s charged to potential V. If the common potential
s V, then the value of K is

Bess drroso K to a8 Beis) $0A &) ATDI AArodE DU TP L,
Dogv gy ™ o ©d 88y Vo TS D 533 DD LY Darodd

DO 3FH06 L DX, H &) ¢ 5?635))05095 V eond K dewsd

Options :
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Time: 0

If n, e, 7 and m represent the concentration, the charge, the relaxation time and the
mass of electron in a metal, then the resistance of a wire made of the metal of length
‘[” and area of cross-section A 1s

8 §'Ero’ 0, €, T 206080 M eV AR TR0 Fogd, IRTDIAD,
o058 0605 3073 0k APDockor. Tirg Bef Teksd) 1’ SoBako
QNG DT0[0 A wod & 8 e

Options :

m/

2
ne-tA

mt’A

2
. ne’l

ne’tA
« 2m/

ne’A

4 % 2mrtl
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In a potentiometer experiment, the balancing length with a cell is 240 cm. On
shunting the cell with 2 Q) , the balancing length becomes 120 cm. The internal
resistance of the cell is

24 ?agaybom DAT0S" w8 OBVHD Dodowd Ty 240 cm. &
20030080 20 & 208 BAINE 200D T 120 cm 9B, e D8
03.1)5'6 @oééﬁﬁ’ o

Options:

0.5¢

1.% )
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To generate the high magnetic fields. the synchrotron uses

©BS oI 08 FTVR ErToBostrdS, VEErS &HAIFAHG
Options:

solenoid only

. 'OTranE A
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toroid only

eS°TPOE AT

®

combination of solenoid and toroid

O TroNE 28030 65 TToNE Dod3FHo
3.¢

metal dee
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If the magnetic field is along the positive y-axis and the electron is moving along the
positive x-axis, the direction of force on the electron is

WO, 08 Eo ¢33 Y- w50 B3 2Bk JOFT G x-vg0 Dot
SR080%) 0B, JUTS P, W0 &0t BF |
Options: -

along -y axis

— V @980 Do

along +y axis

+y @980 Do



along +z axis

+7 950 DoLEC

along -z axis

— Z 950 DoG
4.
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A bar magnet of length 0.1 m and magnetic moment of 5 Am” 15 placed in a uniform
magnetic field of ntensity 0.4 T, with its axis making an angle of 60° with the field.
The torque on the magnet is

0.1 m ey, 5 Am’ 030, 08 £Pago o ot 0mrdy 0.4 T e o
D468 wahiF) 08 Edod’ T w50, E08 60° 6,63 Agore &odd T 06,
Q0D

Options:

. 1.532 Nm
1.

1.414 Nm

1.732 Nm
4.9



Question Number : 112 Question Id : 5500532992 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Changing magnetic fields can set up current loops in nearby metal bodies. They
dissipate electrical energy as heat. Such currents are called

Sr6ocoR) WO 08 Egren, GBS &) Gir MUY DS o
oy Fraouriohoran. e oS A &g s abo SaFow. &
Qe
Options :
Eddy currents
. e DT

Self-induced currents

RLOD-B DTN

Photo currents

5708 RS DT

Tonic currents

aHASBE DBS DI

Question Number : 113 Question Id : 5500532993 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0
A resistor of 50 Q, an inductor and a capacitor are connected in series to an ac

source of peak voltage 20052 V. When the capacitor alone 1s removed from the
circuit, the current lags the voltage by 37 and when the inductor alone is removed

from the circuit, the current leads the voltage by 37. The power dissipated in the
LCR circuit is

36 S8 20012V o 8 295203 336" 50 Q o a8 DBGLW, a8 Do
208050 w8 SFRb6 S0DRAID. HVAL Kod FFabE & ArdH SVAcd,
DA v FGe ol 37° DRugaco HBoky dwabo 0d HELANDY
g Sofiodd, DS pairo TGe o8 37° ot Gt LCR

oo’ mg%wm&)s av:»géo

Options :

[y 400 W

800 W
2.V

L % 200W

L« 100W

Question Number : 114 Question Id : 5500532994 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The efficiency of a bulb of 1000 W is 6%. The peak value of the magnetic field
produced by the electromagnetic radiation from the bulb at a distance of 1 m from
the bulb is

{

1 e
——=9x10° N''C? |
| 4ne_ J
1000 W x5y ahog, 558 6%. x5y d00c Dewidd DR 0d dbtao S

€:) 00] WO 08EY 36 Deosd Wy Modt | m Erded

1 .4}
L onemmtc” |
\ 4ne, )

Options:

; - -8
L 20x10°T
15% 10T
E

L 1ox 10°T
3.

4.QSXIO'ST

Question Number : 115 Question Id : 5500532995 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Two photons each of energy 2 eV incident simultaneously on a photosensitive
material of work function 3 V. The maximum kinetic energy of the emitted photo
electrons is

w8) 9.6 2 eV 33 o Boch Ty HAI0%0 3 eV o w T Aarg) (s

DErGop D8 508" HIVID. rr6d T dogoe oY fdx 3.



Options:

. 0eV

Question Number : 116 Question Id : 5500532996 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

An electron in the ground state of hydrogen atom absorbs 10.2 eV energy. The
orbital angular momentum of the electron increases by

L.

TERS D6rm Erdrand’ ad) a8 oz 10.2eV 330 Fio Sos0b.
dogdy 85 Sedad @pdriod diarbce

Options:



Question Number : 117 Question Id : 5500532997 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If the speed of the light was half the present value, the energy released i a nuclear

reaction decreases by

5085¢ DS SES” dtfo NSV, Sogis Y eacse oy 338 Srdcse

Options:

| ® 100%

75%
50%
25%
Question Number : 118 Question Id : 5500532998 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In the given logic circuit, if A and B are the mputs, then P and Q are respectively

POV 86, Soaked’, A, B ew AP €owd P, Q wo HERm

B

A P

Options:

. (ATB). (P.A)
_« (AB).(PB)
, « (ATB). (P+B)

, v (AB). B

Question Number : 119 Question Id : 5500532999 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
An oscillator 1s an amplifier with
wg Eogo OIS s el HY<o
Options:

high gain

QS OB
@

1. #



no feedback

. i@ééclo")tgo

negative feedback
. e S @é@gbgo

positive feedback

Gared) S NG\ D0
o SR

Question Number : 120 Question Id : 5500533000 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

A message signal of frequency 20 kHz and peak voltage of 20 V is used to
modulate a carrier whose peak voltage 15 100 V. The modulation index is

20 kHz a0, 3006 SG& 20 V o 2082 203808’ 100 V 36 SG& o
TS SG0TT) APETE BT, APETRD )

Options:
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Question Number : 121 Question Id : 5500533001 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The radius of H atom in its ground state is x pm. What is the ratio of radii in ground
and n =2 states of He™?
mfgéé‘s H d8drend) mﬁg:m xpm. He™ & PO Soboko =2 é)éwe‘f
mg&cﬁv A S dos?

0 =

Options:



4331:9

Question Number : 122 Question Id : 5500533002 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
. > 5 *+

The total number of electrons with magentic quantum number m, =0in Fe™ and
Cr’ is respectively

3I Y & v
Fe 2080ty Cr” 08 eahsd 08 5ok doay, m,=0 & o ndo JoFd ©
100933 QO™

Options :

W)

L% 14,1
13.14

, v 11,11

Question Number : 123 Question Id : 5500533003 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

How many of the following are neutral oxides?

S08 THS” SV BS\E e ) ?
CO, NO. Na»O. N>O. C1,07, ALO3, As>03

Options:



Question Number : 124 Question Id : 5500533004 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The metal having low melting point is

BL).D BDPOD Fdo o S'ro

Options:

Question Number : 125 Question Id : 5500533005 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Intramolecular hydrogen bonding is found in

@08 3R oo SOA akd) & I&?
Options:

| = HF

. CH;OH

0 — Nitrophenol

0-85 75
3.V

o0-Cresol

0-S$°¢5

4.%

Question Number : 126 Question Id : 5500533006 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In OF, number of bond pairs and lone pairs of electrons are respectively

OF, e960:9)65° 20068 2¢8 08050 20088 269 VTS © VoY, HARM

Options:

% 2.6



N
S
[}
o0

2
O

Question Number : 127 Question Id : 5500533007 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The 1sotopes of hydrogen are H, D and T. What 1s the approximate ratio of rate of

diffusion of Hy, D and T,?

&2 oJ Qe H, D 20800 T. Hy, Dy sabasn Ty 0 a0 Svw Ayd

g

RATET oeh?

Options:

o 04:05:0.7

Question Number : 128 Question Id : 5500533008 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

At T (K). a gaseous mixture containing Hy, He and O, exerted a pressure of 1 bar.
The weight percentage of H, and He 1s 20 and 16 respectively. What is the ratio of

partial pressures of O, He and Hy?
H, He 08050 0y &0 o) 28 7050 %) 9w 1 bar, Hy 20605 He ©
ardTd0 Sdoare 20 Sobakw 16 ead 0y, He 2080t Hy aFéd adare Mg

Qoeh?
Options:

1255

1.9

2
[S—
N

o
o
!

Question Number : 129 Question Id : 5500533009 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



48 g of methane was completely burnt in the presence of oxygen. The liberated gas
was passed into a solution containing 370 g of Ca(OH),. What 1s the weight (in g) of
CaCO; formed?

(Atomic weights: C =12: H=1: Ca=40:.0=16)

2 20508 48 £ © B &0 LPET Sodom. DD TAVDY,

370 g » Ca(OH), o grdeso &'R3 Dooomedd, i)dbé,c‘é CaC0s &rdo (g 08)
2083?

(D8re eroren:C=12: H=1:Ca=40.0=16)

Options:

Question Number : 130 Question Id : 5500533010 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If the standard Gibbs energy. enthalpy and entropy changes AG®. AH" and AS® for
a teaction are -3444 kJ mol™, -6.44 KT mol™. 80 T K'mol” respectively, the
temperature of the reaction (in °C) is

w8 SO 0arD A5y 38, Jorrd, o' drddyen, AG. AH', AS*en Sebrr
3444 KT mol™, 6.4 kJ mol™, 80 7K' mol™ evaoss e 655 el dd (°C 06)

Options:



#
)
N
o

« 427

77

)
h

Question Number : 131 Question Id : 5500533011 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If the mean bond dissociation energies of C-C and C-H are 80 and 90 kI mol”
respectively. the standard enthalpy of atomization of n-butane(g) (in kJ mol™)is

C-C, C-H it oc Dairad e déxore 80 , 90 kI mol™ evaxd

11-w5é35(a°) AT DBATEREER Oow’g)b (kJ mol” v’ )

Options:
w7980

1040

1140

-1140



Question Number : 132 Question Id : 5500533012 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
At T(K). K, of AgCl AgBr and Agl is 18x10™, 5x10™ and 8.3x10™

respectively. A 1L solution contains 10~ moles each of NaCl. NaBr and Nal. This
solution was titrated with 10° M AgNO, solution, till all the CI", Br™and I” are

precipitated as silver salts. The order of precipitation of these respectively are

T(K) 9¢ AgCl AgBr oty Agl o K, deosen sdore, 18x107™", 5x107"
208 8.3x1077, 28 1L grédesods’ NaCl, NaBr daso Nal 2,866 107 are
&3 00, & TSR 107 MANO, gromand, ey CI', Br™ dakw I
W 8 DG VIRV BHED0 Bockd HBL BoBTHD B, 2D
@béi’aémcﬁ)}g $00 DA

Options :

All the three salts are precipitated simultaneously

S0P BTN 2080 9SDED0 BoRITON
4. %

Question Number : 133 Question Id : 5500533013 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

At 300 K. the total pressure of the following system is 2 atm, at equiltbrium.

A(@=2A(9)

The atoms of A occupy 20% volume at STP. The K, of the system 13 approximately

(Given: R=0.082 L atm mol™ K", STP volume of 1 mole of a gas=22.7L)

300K 36, 306 DTS B8 Mo DKW 2 atm.
A (9)=22A(9) STP 56 A DOArmQL0 20% MVOBAPTD) SEMOTAD, S5

aos) K, oo
(c9dy6: R = 0.082 L atm mol™ K™, STP 56 1 38 ok odiddirno=227L)

Options :

o 4x107°

L 4%x107°

"

4%x10™

4x10°
®

Question Number : 134 Question Id : 5500533014 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Among the following molecular hydride is

308 T8 ee PEE



Options:

BeHg

1.%

BoHs

o

2.V

. NaH

CrH

Question Number : 135 Question Id : 5500533015 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Among the following, the correct statements are
L. Lithium forms solid hydrogen carbonate

IT. LiCl is soluble in ethanol

[11. The formula of Lithium oxide is LiO

IV. Lithium hydroxide decomposes on heating

308 OGS, DBEHD ([
L D0t0 208 rE RS S8y & D8\ HR0E
IL LiCl agSe & 860tHco0d
I dodo es3y& Jrder LiO
IV. SAB2 0 ddod0 erS & Dineddo Botodood
Options :
II. IV only

IL. IV &oegda
1. ¢



L. IIT only
L IIT Soredadd

2. %

I1. 11T only

IT, IIT Soeghad
3. %

[. IV only

L IV &g
4. %

Question Number : 136 Question Id : 5500533016 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Among the following. which statement is not correct?
S08 TS, D Tejy PBEIE S°?

Options:

Non-metals and metalloids exist only in the p-block of the periodic table

28500 HHLS” e HFen B @gesﬁ::ew p-2§ &5 ArGAd Hotrow

'| %

Generally. non-metals have higher ionization enthalpies than metals

) Fordeaorr 96 L) & Fe%os @AY esahdEden Qow%w )0eran
2.



The compounds formed by highly reactive non-metals with highly reactive metals
are generally tonic nature

08 ST{08 $v 0 e | A S CBLED Satod €99 i)dbd&b

SRULIY FoeEEaomT wairds b&wboéﬁ 5)0ETO0.

The non-metal oxides are basic.

9¢5° g3 BB G BV D0 $HoLod
4.¥

Question Number : 137 Question Id : 5500533017 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Among the following, the correct statements are
I. CCly1s electron precise molecule
IT. SnFs, PbF4 are 1onic in nature
III. All tetra halides of group 14 elements are easily hydrolyzed
IV. PbO, PbO; are amphoteric in nature
$06 TS DB [
[ CCly oy Qos°ad (f0) )
IT. SnFs, PbFsen e90drd8 aﬁwbo g0
I Q) 14 & (10 Boresee SErFGEd RoFem 2070 FotTe0

IV. PbO, PbOr 0% &Sé)sayéo g0

Options:

I, ITL., IV only

o LILIV &rgdo



IT, IIT, IV only

IL. II1, IV soeghadd
2. %

L. II. IV only

L. IL IV soegda
3.9

I. 1L, III only

I IL III soeehado
4. %

Question Number : 138 Question Id : 5500533018 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The number of alkenes that exhibit cis/trans 1somerism with the molecular formula
C5H10 1S

CsHyp ee0 &&éw $% u@bé o 2o/ &y &d&?lgi’)l 086,085 &8 o2

Options:



Question Number : 139 Question Id : 5500533019 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The ratio of sp3 : sp2 & sp hybridized carbons present in CH;-CH = CH-CN
CHy-CH= CH-CN &' sp’. sp” 3080ty sp 0865600 o 56,9 A

Options:
I:2:1
1.¥

1:F:2
552 B |

29121

Question Number : 140 Question Id : 5500533020 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which of the following arrangement of magnetic moment is correct for

ferrimagnetic substance?

308 T WO 08 G50 WRBS D WAHF) 08 DTS HOWIE?

Options:

STTTTTTTT

1.°



0 T O
PETHT T

TIITTTLTT
v

4.

Question Number : 141 Question Id : 5500533021 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

In a freezing pomnt expertment, aqueous acetic acid solution gave ATg (observed) =
0.02 K. Calculated AT for same solution was found to be 0.018 K. What 1s the van't
Hoff factor of acetic acid?

28 Q00BN T DATed, NBS ) a0 IS ATy (DAIrme)s Jevd)
0.02K. o8 goderds e.‘)’ézjo&x) AT; e 0.018 K. 088 e300 arobrad

(083800 Woh?
Options:

2
| ® 10



Question Number : 142 Question Id : 5500533022 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

At T (K), 1 mol of benzene 1s mixed with 1 mol of toluene. The mole fraction of
benzene and toluene in 1ts vapour state 1s respectively

(P! =160torr, P’ =60torr)

Benzene toluene

T(K) 56, 1 376 B8 & 1 are 695 © 060, Hod Sodoso DS dioogy,

=160torr. P, =60torr)

Benzene toluene

A TP wabfgéess S (P

Options :

0.5&05

1. %

04 & 0.6
E

0.62 & 0.38

0.73 & 0.27

Question Number : 143 Question Id : 5500533023 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Observe the following half cell reactions and choose the correct options
(1) 2H,0()>0,(g)+4H™ +4e E°=123V

(MH (aq)+e” —>1H ,(2) E =000V

) 250, (aq)—>S 0; (ag)+2e” E°=1.96V

a) In dilute H,SO, Solution, H™ ions are reduced at cathode.

(
()
(b) In concentrated H,SO, solution, water is oxidized at anode.
(c) In dilute H,SO, solution, water is oxidised at anode.

(

d) In dilute H,SO, solution, SO;” ions are oxidized at anode.

306 &8 Dot S6[RA 6380d KBED HAYTVLL J) ol
() 2H,0(1) >0, (g)+4H" +4¢” E°=123V
(1) H(aq)+¢” —%Hz(g) E =0.00V
(IIT) 2505 (aq) - S,0; (aq) +2¢” E°=1.96V
(a) b0 H,S0, grimoss’, H eoirdy 66 56 $oargtno Sot.
(b) ¢t H,S0, gradeaoss’, b e85 96 93186630 Bk
(c) dae H,S0, roenod’, N eSE 96 e33y36t0 Sodomd
(d) Sz HSO, gromod, SO, eiraoen eSE 3¢ 831860 306k
Options :
a and b only

a 8oL b g0

a and ¢ only

a 0803 ¢ AT



b and ¢ only
b 0803w ¢ &Arrghad

b and d only

b 0803w d dorgdan
4. %

Question Number : 144 Question Id : 5500533024 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If the time required for 40% completion of a first order reaction is 50 minutes, what
is the time required for completion of 80% of the same reaction?

(log2=0.3010, log 5 = 0.6990, log 6= 0.7782)

w8 DB girogisty 40% Qrosserds 50 Aaren HHDHS B 80% 8
SRS 2ot e0%0 DEIBE?

(log2=0.3010, log 5= 0.6990, log 6= 0.7782)

Options:

157.8 min

147.8 min

2. %

78.8 min
W

73.8 min
4, %



Question Number : 145 Question Id : 5500533025 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Given below are two statements

Assertion (A): A catalyst, generally icreases the rate of a reaction

Reason (R): It lowers the activation energy of a reaction by providing a new path

The correct answer 18

d0& Gocd T{R[R0 RD(UTA.

Do (A): Feedeorr eg‘s;dso $6[ ) Docodod

560 (R): afégdsm édség 59 droe)) senrfdabio Br(e o) 62 35 Q
éf};goo&

28O PAFER0

Options :

Both (A) and (R) are correct and (R) is the correct explanation of (A)

(A) 28050 (R) @0 Bocky HBHD 2805 (A) £ (R) HEEDH Ddde

Both (A) and (R) are correct and (R) is not the correct explanation of (A)

_ (&) 6ato (R) 00 Bot 2333, (4) $ (R) %39 D6 6

(A) 1s correct but (R) is not correct

. (A)B™E 5°Q (R) 2838 5°¢



(A) is not correct but (R) 1s correct

(A) 2858 5260 52 (R) 2898

Question Number : 146 Question Id : 5500533026 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The catalyst, promoter and poison for Haber’s process are respectively
b DA %égdéo, 05gso, %53965 DDETR SERTT
Options : | )

Platinum. Zinc oxide, Arsenic oxide

T30, 205 3E, 88 3 \&

Nickel. Chromium trioxide. Carbon monoxide
D35, EMabo & 65 \&, 5630 drd &

Platinum. Molybdenum. Hydrogen sulphide
F&D0, D0, TERS VGNE

Iron. Molybdenum, Carbon monoxide
DG, 55"@22?60, 3"66)5 5.3"3"%)(5

Question Number : 147 Question Id : 5500533027 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Sphalerite is the ore of metal M; and malachite 1s the ore of metal, My. Atomic
numbers of M; and M, are respectively
T8 030 M; by §'iro g trdo). Aru3ts edG Myei &'

a30g); TR M, My o d6dme NO[RV DA

Options:

| 30.82

Question Number : 148 Question Id : 5500533028 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

—2 > X +Y + oxide of nitrogen (A)

Conc HNO;

C = : .
——Z + Y + oxide of nitrogen (B)
A and B in the above reactions. respectively are

-%) X+Y+288 93:5_’3&(-“‘\)

¢ HNO,

— 57 +Y + 288D 65\& (B)

oS A, B e HEm

Options:



. No.No,

NO, . NO,
v 2 2

.« N,0. No,

, « NO.N,0

Question Number : 149 Question Id : 5500533029 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
a7 i 955
The decomposition products of [FeO4]™ are

[FEO4]2— oo bdga BOPOSTATS eefaba”clw

Options:
§ 1:6304. 03
1.7

FeO. O,
2. %

3 ¥ F8203. Og

4 FeO. Fe>O;



Question Number : 150 Question Id : 5500533030 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Which of the following 1ons has [Xe] 41" 65" as outer electronic configuration?
$06 woird 0" B3 | JoFdS DFfo [Xe] 4’ 65° e &08?
Options:

Yb*

Question Number : 151 Question Id : 5500533031 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Buna — N 1s a polymer of

20§ N 08 B/ D& g, FO67?

Options:

N

CN



Y
3. %
/

4 % Cl

Question Number : 152 Question Id : 5500533032 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Given below are two statements

Assertion (A): Hydrolysis of sucrose results in change m the optical rotation from
dextro (+) to laevo (-)

Reason (R) : Both the products from the hydrolysis are leavorotatory

The correct answer 15

S0t B0tk TR0 RBEFON.
o G
Ao (A): WEF 20dFaR S Gd0 FANS GSTFSES (+) ok TATSYS
(-) & SrdB08.
500 (R): 20D306 Q00é JO\E Goth) 6O\ 0 TEAPSES D) ¥
2B0E DIPEER0
Options:
Both A and R are correct and R in the correct explanation of A

A H8aiw R e Gocdd DB 08030 A £ R 28008 DH8e

1.%



Both A and R are correct but R 1s not the correct explanation of A

A 80w R e G0 28008 5°Q A £ R 28ond D8 5260

A 1s correct but R is incorrect

A 28008 3°Q R D800 57¢0

A is mcorrect but R is correct

A 280008 37 3 R D800

Question Number : 153 Question Id : 5500533033 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

In amylopectin branching occurs by which of the glycosidic linkage?
QDS 1S &' D BERAS woto BT TV V6 DTPON?

Options:
C-2toC-6
C-2&00C-6

C-3t0oC-6

C-3DoC-6
2. %

C-2toC-3

C-2000C-3

3. %



C—1teE—6

C—1&00dC-6
4.¥

Question Number : 154 Question Id : 5500533034 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Low levels of which of the following chemical substance causes depression?
408 @ B D8 D8P0 S8 ITP Gotitio SV THVS SeurdAed?

Options :
Histamine

330532335

Noradrenaline

76 AEDOD

Prostaglandine

TFTodD

Histidine

RAS

Question Number : 155 Question Id : 5500533035 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The optical rotation of a racemic mixture of 2-methyl 1-butanol is
2- 0FES 1-80§025eS TS DFao G0, Grdes FAoeadd
Options:

+1E:5
1.%

Question Number : 156 Question Id : 5500533036 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

What 1s X’ in the following reaction?

2 — Bromo — 2 — methyl butane —— 2 — methyl — 2 — butanol

308 ::565936 o ol [
2 - A -2 - FS ariBS —X s 2- WFS-2-e0(0SS
Options:

CH,Cl,



Question Number : 157 Question Id : 5500533037 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

What are ‘X" and “Y " in the following reactions?

S0& (RS X L8050 Y o0 dD?

Acetal « = H,CCOCH, ~ Y, Oxime
(deee5) (esgbéo)

Options:
X =dry HCl : Y = NH>NH»
X= e.ozrg HC1 : Y = NH)NH;

X =NaOH : Y = PhNH,

X =dry HCIl : Y = NH,OH
X =g HC1. Y = NH,OH



X =dil HC1: Y =NH,OH

X = 99 HCl : Y = NH,OH
4.%

Question Number : 158 Question Id : 5500533038 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The correct order of reactivity of the following towards nucleophilic addition
reactions is

Ar(SAradS Dosod tB(L Db Sob T8 VT ST(FOS §0
CHCOCH, CH,CH,CHO, CICH,CHO
I II I

Options :

|y MI<I<I
M<II<I

I Fy IH <5 II
*

4V I<1I<I1H

Question Number : 159 Question Id : 5500533039 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0

The suitable reagent to carry out the following reaction is

S08 381, DB DO TBLB0?

COOH

Options :

.« RCOsH

PCC

2. %
, » KMnOy/KOH., H;0"

dil. H,SO4

. DB H,SO4
4.

Question Number : 160 Question Id : 5500533040 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Hydrolysis products of isobutyl isonitrile are

DTS DI'DBS 20 DFNS” JBE ES\T°)



Options:
(CH,), CHCH,NH, + HCOOH

1.¢¥

CH,CH,CH(CH, )NH, + HCOOH
2. %

_ (CH,), CHNH, + CH,COOH
3. B

(CH, ), CHCOOH + CH,NH,
4. % )
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